# **Clinton County Road Commission, MI**

#### Solicitation Number

21-106

### Deadline

03/10/2021 10:00 AM EST

## Advertised

02/24/2021 10:00 AM EST

### Description

2021 Clinton County Road Commission, Clinton County, MI Bituminous Mixture Skip Patch

Business Name	Address	Phone
Rieth-Riley Construction Co., Inc	4150 S. Creyts Rd Lansing, MI 48917	(517) 721-0103
Michigan Paving & Materials Co	3566 Mill Creek Ave NE Comstock Park, MI 49321	(616) 481-9895
Capital Asphalt LLC	3888 S. Canal Rd Lansing, MI 48917	(517) 322-0800
3 Bidders		

Item	Quantity	Michigan Paving & Price	Materials Co Extension	Quantity	Capital As Price	phalt LLC Extension
1100T - wor	k scheduled k	before September 30, 2021				
Bath tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Bengal tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Bingham tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Dallas tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
DeWitt tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Duplain tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Eagle tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Essex tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Greenbush tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Lebanon tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Olive tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Ovid tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Riley tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Victor tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Watertown tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00

Item	Quantity	Michigan Paving & Price	Materials Co Extension	Quantity	Capital As Price	phalt LLC Extension
1100T - wor	k scheduled k	pefore September 30, 2021	I			
Westphalia tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Bath tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Bengal tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Bingham tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Dallas tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
DeWitt tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Duplain tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Eagle tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Essex tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Greenbush tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Lebanon tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Olive tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Ovid tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Riley tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Victor tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00

Item	Quantity	Michigan Paving & Price	Materials Co Extension	Quantity	Capital As Price	phalt LLC Extension
1100T - wor	k scheduled k	pefore September 30, 2021				
Watertown tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Westphalia tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
13A -work s	cheduled befo	ore September 30, 2021				
Bath tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Bengal tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Bingham tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Dallas tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
DeWitt tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Duplain tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Eagle tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Essex tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Greenbush tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Lebanon tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Olive tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Ovid tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Riley tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00

Item	Quantity	Michigan Paving 8 Price	Materials Co Extension	Quantity	Capital As Price	phalt LLC Extension
13A -work s	cheduled befo	ore September 30, 2021				
Victor tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Watertown tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Westphalia tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Bath tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Bengal tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Bingham tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Dallas tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
DeWitt tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Duplain tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Eagle tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Essex tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Greenbush tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Lebanon tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Olive tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Ovid tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00

Item	Quantity	Michigan Paving & Price	Materials Co Extension	Quantity	Capital As Price	phalt LLC Extension
13A -work s	cheduled befo	ore September 30, 2021				
Riley tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Victor tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Watertown tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Westphalia tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
1100T - wor	k schedule aft	er October 1, 2021				
Bath tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Bengal tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Bingham tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Dallas tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
DeWitt tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Duplain tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Eagle tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Essex tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Greenbush tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Lebanon tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Olive tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00

Item	Quantity	Michigan Paving & Price	Materials Co Extension	Quantity	Capital As Price	phalt LLC Extension
1100T - wor	k schedule aff	ter October 1, 2021				
Ovid tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Riley tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Victor tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Watertown tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Westphalia tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Bath tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Bengal tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Bingham tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Dallas tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
DeWitt tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Duplain tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Eagle tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Essex tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Greenbush tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Lebanon tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00

Item	Quantity	Michigan Paving Price	& Materials Co Extension	Quantity	Capital As Price	phalt LLC Extension
1100T - wor	k schedule af	ter October 1, 2021				
Olive tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Ovid tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Riley tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Victor tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Watertown tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Westphalia tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
13A- work s	chedule after	October 1, 2021; comple	ted by Dec 3, 2021			
Bath tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Bengal tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Bingham tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Dallas tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
DeWitt tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Duplain tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Eagle tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Essex tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Greenbush tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00

Item	Quantity	Michigan Paving Price	& Materials Co Extension	Quantity	Capital As Price	phalt LLC Extension
13A- work s	chedule after	October 1, 2021; comple	eted by Dec 3, 2021			
Lebanon tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Olive tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Ovid tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Riley tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Victor tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Watertown tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Westphalia tons	40.00	\$78.00	\$3,120.00	40.00	\$118.00	\$4,720.00
Bath tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Bengal tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Bingham tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Dallas tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
DeWitt tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Duplain tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Eagle tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Essex tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00

ltem	Quantity	Michigan Paving Price	& Materials Co Extension	Quantity	Capital Ası Price	ohalt LLC Extension
13A- work s	chedule after	October 1, 2021; compl	eted by Dec 3, 2021			
Greenbush tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Lebanon tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Olive tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Ovid tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Riley tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Victor tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Watertown tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
Westphalia tons	20.00	\$108.00	\$2,160.00	20.00	\$118.00	\$2,360.00
128 Items	Totals:		\$337,920.00			\$453,120.00

ltem	Quantity	Rieth-Riley Construction Price	on Co., Inc Extension	
1100T - wor	k scheduled k	pefore September 30, 2021		
Bath tons	40.00	\$200.00	\$8,000.00	
Bengal tons	40.00	\$200.00	\$8,000.00	
Bingham tons	40.00	\$200.00	\$8,000.00	
Dallas tons	40.00	\$200.00	\$8,000.00	
DeWitt tons	40.00	\$200.00	\$8,000.00	
Duplain tons	40.00	\$200.00	\$8,000.00	
Eagle tons	40.00	\$200.00	\$8,000.00	
Essex tons	40.00	\$200.00	\$8,000.00	
Greenbush tons	40.00	\$200.00	\$8,000.00	
Lebanon tons	40.00	\$200.00	\$8,000.00	
Olive tons	40.00	\$200.00	\$8,000.00	
Ovid tons	40.00	\$200.00	\$8,000.00	
Riley tons	40.00	\$200.00	\$8,000.00	
Victor tons	40.00	\$200.00	\$8,000.00	
Watertown tons	40.00	\$200.00	\$8,000.00	

Item	Quantity	Rieth-Riley Construction Price	on Co., Inc Extension		
1100T - wor	k scheduled k	pefore September 30, 2021			
Westphalia tons	40.00	\$200.00	\$8,000.00		
Bath tons	20.00	\$250.00	\$5,000.00		
Bengal tons	20.00	\$250.00	\$5,000.00		
Bingham tons	20.00	\$250.00	\$5,000.00		
Dallas tons	20.00	\$250.00	\$5,000.00		
DeWitt tons	20.00	\$250.00	\$5,000.00		
Duplain tons	20.00	\$250.00	\$5,000.00		
Eagle tons	20.00	\$250.00	\$5,000.00		
Essex tons	20.00	\$250.00	\$5,000.00		
Greenbush tons	20.00	\$250.00	\$5,000.00		
Lebanon tons	20.00	\$250.00	\$5,000.00		
Olive tons	20.00	\$250.00	\$5,000.00		
Ovid tons	20.00	\$250.00	\$5,000.00		
Riley tons	20.00	\$250.00	\$5,000.00		
Victor tons	20.00	\$250.00	\$5,000.00		

ltem	Quantity	Rieth-Riley Constr Price	uction Co., Inc Extension	
1100T - wor	k scheduled b	pefore September 30, 202	1	
Watertown tons	20.00	\$250.00	\$5,000.00	
Westphalia tons	20.00	\$250.00	\$5,000.00	
13A -work s	cheduled befo	ore September 30, 2021		
Bath tons	40.00	\$200.00	\$8,000.00	
Bengal tons	40.00	\$200.00	\$8,000.00	
Bingham tons	40.00	\$200.00	\$8,000.00	
Dallas tons	40.00	\$200.00	\$8,000.00	
DeWitt tons	40.00	\$200.00	\$8,000.00	
Duplain tons	40.00	\$200.00	\$8,000.00	
Eagle tons	40.00	\$200.00	\$8,000.00	
Essex tons	40.00	\$200.00	\$8,000.00	
Greenbush tons	40.00	\$200.00	\$8,000.00	
Lebanon tons	40.00	\$200.00	\$8,000.00	
Olive tons	40.00	\$200.00	\$8,000.00	
Ovid tons	40.00	\$200.00	\$8,000.00	
Riley tons	40.00	\$200.00	\$8,000.00	

Item	Quantity	Rieth-Riley Constru Price	iction Co., Inc Extension	
13A -work s	cheduled befo	ore September 30, 2021		
Victor tons	40.00	\$200.00	\$8,000.00	
Watertown tons	40.00	\$200.00	\$8,000.00	
Westphalia tons	40.00	\$200.00	\$8,000.00	
Bath tons	20.00	\$250.00	\$5,000.00	
Bengal tons	20.00	\$250.00	\$5,000.00	
Bingham tons	20.00	\$250.00	\$5,000.00	
Dallas tons	20.00	\$250.00	\$5,000.00	
DeWitt tons	20.00	\$250.00	\$5,000.00	
Duplain tons	20.00	\$250.00	\$5,000.00	
Eagle tons	20.00	\$250.00	\$5,000.00	
Essex tons	20.00	\$250.00	\$5,000.00	
Greenbush tons	20.00	\$250.00	\$5,000.00	
Lebanon tons	20.00	\$250.00	\$5,000.00	
Olive tons	20.00	\$250.00	\$5,000.00	
Ovid tons	20.00	\$250.00	\$5,000.00	

Item	Quantity	Rieth-Riley Const Price	ruction Co., Inc Extension	
13A -work s	cheduled befor	re September 30, 2021		
Riley tons	20.00	\$250.00	\$5,000.00	
Victor tons	20.00	\$250.00	\$5,000.00	
Watertown tons	20.00	\$250.00	\$5,000.00	
Westphalia tons	20.00	\$250.00	\$5,000.00	
1100T - wor	k schedule afte	er October 1, 2021		
Bath tons	40.00	\$200.00	\$8,000.00	
Bengal tons	40.00	\$200.00	\$8,000.00	
Bingham tons	40.00	\$200.00	\$8,000.00	
Dallas tons	40.00	\$200.00	\$8,000.00	
DeWitt tons	40.00	\$200.00	\$8,000.00	
Duplain tons	40.00	\$200.00	\$8,000.00	
Eagle tons	40.00	\$200.00	\$8,000.00	
Essex tons	40.00	\$200.00	\$8,000.00	
Greenbush tons	40.00	\$200.00	\$8,000.00	
Lebanon tons	40.00	\$200.00	\$8,000.00	
Olive tons	40.00	\$200.00	\$8,000.00	

ltem	Quantity	Rieth-Riley Construe Price	ction Co., Inc Extension		
1100T - worl	k schedule aft	er October 1, 2021			
Ovid tons	40.00	\$200.00	\$8,000.00		
Riley tons	40.00	\$200.00	\$8,000.00		
Victor tons	40.00	\$200.00	\$8,000.00		
Watertown tons	40.00	\$200.00	\$8,000.00		
Westphalia tons	40.00	\$200.00	\$8,000.00		
Bath tons	20.00	\$250.00	\$5,000.00		
Bengal tons	20.00	\$250.00	\$5,000.00		
Bingham tons	20.00	\$250.00	\$5,000.00		
Dallas tons	20.00	\$250.00	\$5,000.00		
DeWitt tons	20.00	\$250.00	\$5,000.00		
Duplain tons	20.00	\$250.00	\$5,000.00		
Eagle tons	20.00	\$250.00	\$5,000.00		
Essex tons	20.00	\$250.00	\$5,000.00		
Greenbush tons	20.00	\$250.00	\$5,000.00		
Lebanon tons	20.00	\$250.00	\$5,000.00		

Item	Quantity	Rieth-Riley Constr Price	ruction Co., Inc Extension		
1100T - wor	k schedule aft	er October 1, 2021			
Olive tons	20.00	\$250.00	\$5,000.00		
Ovid tons	20.00	\$250.00	\$5,000.00		
Riley tons	20.00	\$250.00	\$5,000.00		
Victor tons	20.00	\$250.00	\$5,000.00		
Watertown tons	20.00	\$250.00	\$5,000.00		
Westphalia tons	20.00	\$250.00	\$5,000.00		
13A- work s	chedule after	October 1, 2021; comple	eted by Dec 3, 2021		
Bath tons	40.00	\$200.00	\$8,000.00		
Bengal tons	40.00	\$200.00	\$8,000.00		
Bingham tons	40.00	\$200.00	\$8,000.00		
Dallas tons	40.00	\$200.00	\$8,000.00		
DeWitt tons	40.00	\$200.00	\$8,000.00		
Duplain tons	40.00	\$200.00	\$8,000.00		
Eagle tons	40.00	\$200.00	\$8,000.00		
Essex tons	40.00	\$200.00	\$8,000.00		
Greenbush tons	40.00	\$200.00	\$8,000.00		

ltem	Quantity	Rieth-Riley Const Price	ruction Co., Inc Extension	
13A- work s	chedule after (	October 1, 2021; comple	eted by Dec 3, 2021	
Lebanon tons	40.00	\$200.00	\$8,000.00	
Olive tons	40.00	\$200.00	\$8,000.00	
Ovid tons	40.00	\$200.00	\$8,000.00	
Riley tons	40.00	\$200.00	\$8,000.00	
Victor tons	40.00	\$200.00	\$8,000.00	
Watertown tons	40.00	\$200.00	\$8,000.00	
Westphalia tons	40.00	\$200.00	\$8,000.00	
Bath tons	20.00	\$250.00	\$5,000.00	
Bengal tons	20.00	\$250.00	\$5,000.00	
Bingham tons	20.00	\$250.00	\$5,000.00	
Dallas tons	20.00	\$250.00	\$5,000.00	
DeWitt tons	20.00	\$250.00	\$5,000.00	
Duplain tons	20.00	\$250.00	\$5,000.00	
Eagle tons	20.00	\$250.00	\$5,000.00	
Essex tons	20.00	\$250.00	\$5,000.00	

ltem	Quantity	Rieth-Riley Const Price	ruction Co., Inc Extension
13A- work s	chedule after	October 1, 2021; compl	eted by Dec 3, 2021
Greenbush tons	20.00	\$250.00	\$5,000.00
Lebanon tons	20.00	\$250.00	\$5,000.00
Olive tons	20.00	\$250.00	\$5,000.00
Ovid tons	20.00	\$250.00	\$5,000.00
Riley tons	20.00	\$250.00	\$5,000.00
Victor tons	20.00	\$250.00	\$5,000.00
Watertown tons	20.00	\$250.00	\$5,000.00
Westphalia tons	20.00	\$250.00	\$5,000.00
128 Items	Totals:		\$832,000.00